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BT AR B E K

RK17T4E=100
£ B B W | £ B A M| & B B X | A B R D
XHRTA [ RATE XHRTA | xEATEE XHATA R4 XHRIA | R aheE
FH| B K (RAA)| 8 % (RAA)| 8 % (RA)| ¥ % (RA)
rRE%E LE% rEE FH% rEE LR=% L= PR
(%) | (%) (%) (%) (%) | (%) (%) | (%)
VA b 412 148 166 98
£ Bl
174 100.0 -6.2| 100.0 -1.8| 100.0 -11.3| 100.0 4.1
184 100. 7 7] 102.8 2.8 98.4 -1.6f 101.2 1.2
1948 100. 8 1 100.7 -2.0 96. 4 -2.0] 107.7 6.4
204 101. 7 .9] 108.9 8.1 96. 6 .2 99.0 -8.1
2148 97.0 -4.6 96. 2 -11.7 97. 4 .8 97.7 -1.3
2242 101. 4 4.5 93.5 -2.8] 106.3 . 1] 105.4 7.9
A Al

20/12] 105.2 4.5 0.3] 109.7 -5.8 -9.2 99. 3 13.9 2.0 107.4 9.4 15.6
21/1 105. 4 0.2 4.5 99.9 -8.9 -9.7| 105.5 6.2 11.3| 113.2 5.4 18.0
2 99. 8 -5.3 -1.7 98.9 -1.0 -10.4 94.9 -10.0 0.3 108.7 -4.0 10.2
3 96. 4 -3.4 -5.2 91.7 -7.3 -15.6 99.2 4.5 .2 99.2 8.7 3.8
4 98. 8 2.5 -0.9 98. 3 7.2 -T7.4] 108.1 9.0 10.4 85.5 -13.8 -7.8
5 98.6 -0.2 -2.7 94.9 -3.5 -10.6| 103.3 —4. 4 7 96.7 13.1 -1.5
6 96. 8 -1.8 -5.4 98.1 3.4 8.1 96.0 -7.1 0.2 95.9 -0.8 -9.3
7 91.7 -5.3 -11.9( 100.4 2.3 -13.5 85.4 -11.0 -9.7 88.4 -7.8 -12.2
8 105. 4 14.9 -3.1 97.0 -3.4 -15.7| 110.4 29.3 17.2| 110.1 24.5 -9.4
9 97. 2 -7.8 —4.6 87.4 -9.9 -13.7| 106.4 -3.6 2.1 97.7 -11.3 -1.4
10 89.7 7.7 -3.2 93.7 7.2 -5.4 87.9 -17.4 -10.7 86.6 -11.4 15.8
11 90.0 0.3 -10.6 95.4 1.8 -18.0 83.1 -5.5 4.7 92.6 6.9 5.7
12 94.5 .0 -10.2 98.6 3.4 -10.1 88.2 6.1 -11.2 98.0 5.8 -8.8
22/1 95.7 1.3 9.2 96.8 -1.8 -3.1 97.6 10.7 -7.5 91.5 -6.6 -19.2
2 95.2 -0.5 -4.6 94.5 -2.4 4.4 96. 2 -1.4 1.4 94.9 3.7 —12.7
3 94. 6 -0.6 -1.9 91.7 -3.0 0.0 98.8 2.7 -0.4 92.4 -2.6 -6.9
4 96. 6 2.1 2.2 90.6 -1.2 -7.8| 112.9 14. 3 .4 80.8 -12.6 -5.5
5 97.6 1.0 -1.0 86.7 -4.3 -8.6| 109.4 -3.1 .9 95.9 18.7 -0.8
6 99.5 1.9 2.8 90.1 3.9 -8.2| 105.9 -3.2 10.3| 103.6 8.0 8.0
7 95.4 -4.1 4.0 92.6 .8 7.8 101.1 -4.5 18.4 91.1 -12.1 3.1
109. 3 14.6 .71 101.6 9.7 4.7 108.0 .8 2.2 122.5 34.5 11.3
9 111.1 1.6 14.3 92.1 -9.4 . 4] 118.7 9.9 11.6] 127.3 3.9 30.3
10 107.6 -3.2 20.0 86.9 -b5.6 -7.3| 117.5 -1.0 33.7| 122.8 -3.5 41.8
11 109. 7 2.0 21.9| 100.4 15.5 5.2 110.9 -5.6 33.5| 121.4 -1.1 31.1
12 104. 2 =5.0 10.3 98.1 -2.3 -0.5 99.0 -10.7 12.2( 121.1 -0.2 23.6
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BB m 10 K
& ® | B =

iy & B - K | FE-FERAL | R KO ED
XA xtaTaE XA xtaTaE XA xtaTaE XA xtaTaE XA xtaTaE XA A xATeE
GE:RE R (GEME - (GEME - (GEME - (GEME - (GEME - (RA)
kR& LR%E kR& LR%E kR& LR%E kR& LR%E kR& LR%E kA& L=
(%) (%) (%) (%) (%) (%) (%) (%) (%) (%) (%) (%)
VEYAY 10000 2652 2135 709 401 408
174E | 100.0 -0.4| 100.0 -1.3| 100.0 -0.5| 100.0 1.8| 100.0 -1.6| 100.0 .3
184F 99. 6 -0.4| 98.7 -1.3| 99.5 -0.5( 104. 4 4.4 97.6 -2.4| 102. 2 .2
1948 | 99.4 -0.2| 98.9 0.2| 97.8 -1.7| 106.0 1.5| 95.9 -1.7| 106.2 3.9
204F || 101. 2 1.8| 102.1 3.2 98.2 0.4f 114.5 8.0] 96.1 0.2| 105.9 -0.3
214E | 99.9 -1.3] 102.4 0.3 98.2 0.0[ 109.5 -4.4| 93.5 -2.7| 108.6 2.5
224F 98. 8 -1. 1| 101.9 -0.5| 95.8 -2.4| 109. 6 0.1f 87.5 -6.4| 109.7 1.0
21/12| 99.5 0.0 -1.4| 101.6 0.7 -2.3| 97.8 0.0 -1.3| 107.2 0.3 -3.2| 89.8 -1.0 -6.6| 113.2 -1.0 2.8
22/1 | 99.1 -0.4 -1.3| 101.5 -0.1 -2.6| 97.3 -0.5 -1.7| 107.5 0.3 -4.7| 87.7 -2.3 -8.6| 108.7 -4.0 6.6
2 98.7 0.4 -1.5| 101.5 0.0 -1.6| 96.0 -1.3 -3.1| 108.5 0.9 -3.8| 88.4 0.8 -8.5/ 103.4 -4.9 1.2
3 98.7 0.0 -1.6/ 101.0 -0.5 -1.5| 96.0 0.0 -3.0/ 108.8 0.3 -3.0| 86.6 -2.0-10.4| 106.3 2.8 1.6
4 98.4 -0.3 -1.8/ 101.1 0.1 -1.7| 96.0 0.0 -2.1| 108.4 -0.4 -3.5| 87.9 1.5 -7.6/ 109.0 2.5 0.2
5 98.6 0.2 -1.5/100.9 -0.2 -1.8| 95.9 -0.1 -2.0/ 109.5 1.0 -0.5| 88.4 0.6 -7.4| 111.1 1.9 1.6
6 98.8 0.2 -1.2| 101.6 0.7 -1.1| 95.7 -0.2 -2.2| 109.7 0.2 0.3 89.3 1.0 -5.2| 112.0 0.8 2.1
7 98.3 -0.5 -1.3| 100.7 -0.9 -0.7| 95.9 0.2 -2.0/ 110.0 0.3 1.6/ 89.0 -0.3 -4.9/ 108.5 -3.1 2.0
8 98.9 0.6 -1.2|103.2 2.5 -0.5| 95.9 0.0 -1.8/ 110.5 0.5 2.3 87.1 -2.1 -4.5/107.2 -1.2 1.2
9 99.2 0.3 -0.6/ 103.5 0.3 1.5 95.8 -0.1 -2.1| 110.8 0.3 3.1| 87.2 0.1 -5.4| 112.9 5.3 -0.4
10 | 99.2 0.0 -0.3] 102.6 -0.9 1.8/ 95.0 -0.8 -2.9| 110.8 0.0 3.6/ 86.1 -1.3 -5.0| 113.6 0.6 -0.3
11 99.2 0.0 -0.3] 102.8 0.2 1.9 95.1 0.1 -2.8/ 110.5 -0.3 3.4| 86.8 0.8 -4.3| 113.0 -0.5 -1.1
12 | 98.8 -0.4 -0.7| 102.0 -0.8 0.4| 95.1 0.0 -2.8| 110.4 -0.1 3.0/ 85.8 -1.2 -4.5| 110.7 -2.0 -2.2
"o E R | Xx@E - BE # i #H & #OR EE
*TRTA Rt TEE *TRTA Rt TEE *TRTA Rt TEE XHRTH xtETeE XHRTH xtETeE
EH|E K (AA)| 8 %% (AA)| 8 %% (AA)| 8 %% (AA)| 8 %% (RA)
SRR SRR SRR SRR SRR
(%) (%) (%) (%) (%) (%) (%) (%) (%) (%)
A} 445 1474 210 959 607
174 | 100.0 -1. 3| 100.0 0.6( 100.0 0.7( 100.0 -1.0[ 100.0 -0.3
1845 | 99.6 -0.4| 99.9 -0.1| 100.7 0.7| 98.7 -1.3| 97.7 -2.3
194F 99. 3 -0.3| 99.9 0.0[ 101.2 0.5 97.5 -1.2| 98.1 0.4
204 | 99.0 -0.3| 102.5 2.6| 101.6 0.4| 97.0 -0.5| 98.1 0.0
214F 97.8 -1.2| 97.7 -4.7| 102. 1 0.5 94.7 -2.4| 97.2 -0.9
224 | 97.8 0.0| 95.5 1.8 80.8 -20.9| 92.8 -2.0| 98.7 1.5
21/12| 97.3 -0.5 -0.5| 99.1 0.4 2.3|102.1 0.0 0.4] 92.6 -1.8 -3.4| 96.6 -0.5 -1.1
22/1| 97.3 0.0 -1.4| 99.0 -0.1 3.4/ 102.1 0.0 0.4 92.5 -0.1 -2.4| 96.7 0.1 -1.0
2 97.8 0.5 -0.9| 99.2 0.2 3.0] 102.1 0.0 0.1 92.1 -0.4 -2.6] 96.7 0.0 -0.8
3 97.1 -0.7 -1.5| 99.4 0.2 2.6/ 102.1 0.0 0.1| 93.1 1.1 -2.0/ 97.0 0.3 -0.2
4 98.5 1.4 1.3 99.8 0.4 3.1| 73.8-27.7-27.7] 93.2 0.1 -2.2| 96.9 -0.1 0.0
5 97.9 -0.6 0.3/ 100.5 0.7 3.2| 73.7 -0.1-27.8| 92.9 -0.3 -2.4| 96.9 0.0 -0.2
6 98.2 0.3 1.7 100.4 -0.1 2.8/ 73.7 0.0 -27.8| 92.8 -0.1 -1.9| 97.1 0.2 0.0
7 97.8 -0.4 0.0/ 99.6 -0.8 1.1 73.7 0.0 -27.8] 92.9 0.1 -1.9] 97.0 -0.1 -0.4
8 97.4 -0.4 0.1| 99.4 -0.2 0.8 73.7 0.0-27.8] 93.8 1.0 -2.3| 96.8 -0.2 -0.3
9 97.8 0.4 -0.1| 99.3 -0.1 1.2 73.7 0.0 -27.8] 92.8 -1.1 -1.9| 97.1 0.3 -0.4
10 | 98.1 0.3 0.4 98.8 -0.5 -0.2| 73.7 0.0-27.8| 92.9 0.1 -1.6/ 104.5 7.6 7.6
11 97.8 -0.3 .0l 99.0 .2 0.3 73.7 0.0 -27.8f 92.4 -0.5 -2.0] 104.1 -0.4 7.2
12 | 97.4 -0.4 0.1] 99.5 0.5 0.4| 73.7 0.0-27.8| 91.8 -0.6 -0.9| 104.1 0.0 7.8




2 - th EH#ST RIT TR S

SRR 1TH =100
ES &5 B T By g i
= =] =y =] =y =]
WE . pe pps | BE D ppe ipe | BE Lae bow
(%) | (%) (%) | (%) (%) | (%)
SRR 1TAE 100. 0 -0.3 100.0 -0.4| 100.0 -0.4
18 100. 3 0.3 99.6 -0.4| 100.5 0.5
19 100. 3 0.0 99.4 -0.2| 100.6 0.1
20 101.7 1.4 101. 2 1.8 102.2 1.6
21 100. 3 -1.4 99.9 -1.3| 101.0 -1.2
22 99.6 -0.7 98. 8 -1.1 100. 5 -0.5
R 214:12 7 99.6 -0.2 -1.7 99.5 0.0 -1.4| 100.7 0.1 -1.3
R 224E 1A 99.4 -0.2 -1.3 99.1 -0.4 -1. 3| 100.6 -0.1 -1.1
2 99.3 -0.1 -1.1 98. 7 -0.4 -1.5| 100.2 -0.4 -1.1
3 99.6 0.3 -1.1 98. 7 0.0 -1.6| 100.4 0.2 -0.9
4 99.6 0.0 -1.2 98.14 -0.3 -1.8| 100.4 0.0 -0.7
5 99.7 0.1 -0.9 98.6 0.2 -1.5| 100.6 0.2 -0.2
6 99.7 0.0 -0.7 98. 8 0.2 -1.2| 100.3 -0.3 -0.3
7 99. 2 -0.5 -0.9 98.3 -0.5 -1. 3| 100.0 -0.3 -0.6
8 99.5 0.3 -0.9 98.9 0.6 -1.2| 100.5 0.5 -0.4
9 99.8 0.3 -0.6 99. 2 0.3 -0.6| 100.7 0.2 -0.6
10 100. 2 0.4 0.2 99. 2 0.0 -0.3| 101.2 0.5 0.3
11 99.9 -0.3 0.1 99. 2 0.0 -0.3| 100.7 -0.5 0.1
12 99.6 -0.3 0.0 98. 8 -0.4 =0.7 99.9 -0.8 -0. 8
fif] (L ifi IS I i (L [N [ifi
T | A T T A T | A
£ A | #B% (MR) | 8 % (MR) | 8 % (I711)
LRk R LRk R LRk R
(%) | (%) (%) | (%) (%) | (%)
SRR 1TAE 100. 0 -0.1 100. 0 -0.5 100. 0 -0.3
18 100. 4 0.4 100. 2 0.2 99.9 -0.1
19 100. 7 0.3 100. 3 0.1 99.3 -0.6
20 102. 4 1.7 102. 2 1.9 100. 7 1.4
21 100. 7 -1.7 100.9 -1.3 99.1 -1.6
22 99.9 -0. 8 99.9 -1.0 98. 4 -0.7
Rk214£12H 99.7 -0.4 -1.5 100. 0 -0.1 —2.2 98.3 -0.3 -1.7
pk224E 1H 99.6 -0.1 -1.3 99.8 -0.2 -1.9 98.1 -0.2 -1.0
2 99.4 -0.2 -1.6 99.9 0.1 -1.2 97.8 -0.3 -1.3
3 99.9 0.5 -1.5 99.9 0.0 -1.5 98.0 0.2 -1.5
4 99.7 -0.2 -1.5 99.7 -0.2 -1.4 98.2 0.2 -1.3
5 99.8 0.1 -1.3 99.9 0.2 -1.3 98. 14 0.2 -1.1
6 99.7 -0.1 -0.9 99.9 0.0 -1.3 98.6 0.2 -0.8
7 99.1 -0.6 -1.2 99.4 -0.5 -1.3 98.2 -0.4 -0.7
8 99.7 0.6 -1.2 99.6 0.2 -1.3 98.5 0.3 -0.6
9 100. 2 0.5 -0.6 100. 1 0.5 -0.9 98.8 0.3 -0.7
10 100. 6 0.4 0.0 100. 5 0.4 0.0 99.1 0.3 0.2
11 100. 4 -0. 2 0.3 100. 2 -0.3 0.1 98.6 -0.5 0.0
12 100. 2 -0. 2 0.5 99.9 -0.3 -0.1 98. 4 -0.2 0.1
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B g | | T * m
| BF| &8 < v
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H Bi ;i’ R /I/}‘f Bl £
< g | <[ B - i
& | & wlavl! TIs | E |\ |\ lE® |l wlw | 8 | B\ | &I 8|18 -&
21/121 99.5 99.7| 99.5| 99.8| 98.0[ 101.6; 101.8{ 99.0i 106.4: 103.3; 91.8: 97.4; 102.6; 111.4i 104.8 96.6; 102.1: 101.5
22/1 99. 1| 99.2| 99.2| 99.3| 97.4| 101.5¢ 99.7: 97.5! 105.2! 102.6: 97.6: 91.2: 103.2¢ 111.2{ 105.4; 96. 3} 102. 2! 101.5
2 98.7 98.8| 99.0| 99.2| 96.7| 101.5: 99.2¢ 95.9: 107.5: 103.3: 96.8: 94.8: 102.1: 109.8: 106.0: 97.0: 102.0: 101.5
3 98.71 98.9| 99.1| 99.4| 96.9| 101.0: 98.3: 94.0: 106.1: 102.8: 98.3: 92.5: 99.9: 110.8: 104.3: 98.7; 101.7: 101.5
4 98.4| 98.5| 98.7| 98.9] 96.3| 101.1; 99.1: 93.4; 106.0; 101.8; 107.0;: 81.4; 101.2; 110.8; 102.8: 95.9; 101.0; 101.5
5 98.6[ 98.7| 98.9| 99.0] 96.3| 100.9¢ 98.2¢ 91.5{ 105.7 101.9: 104.6: 95.8i 100.0i 109. 3i 102.7¢ 95.3{ 101.2{ 101.5
6 98.8 98.8| 99.2| 99.2| 96.4| 101.6: 99.7: 93.2! 106.4: 101.9: 102.6: 103.2: 103. 7 109.5i 102.4; 95.2{ 101.5: 101.5
7 98.3| 98.5| 98.6| 98.8| 96.1| 100.7: 99.3: 95.1: 106.4: 102.1: 99.5: 91.3: 102.2; 109.0: 102.9: 94.5; 100.1: 101.5
8 98.9 98.4| 99.3| 98.7| 96.1| 103.2; 99.2; 100.4; 106.1: 101.9; 103.7; 121.2; 102.2; 109.6:; 103.0: 94.9; 100.9; 101.5
9 99.2 98.6| 99.6| 99.0] 96.3| 103.5¢ 98.3! 94.5{ 106.1: 102.9: 110.2: 125.7¢ 102. 3 109.4i 102.7¢ 95.2{ 101.2{ 101.5
10 99.2 98.7| 99.8| 99.3| 96.6| 102.6: 96.6: 91.6: 104.7: 102.8: 109.6: 121.5: 101.6: 109.2i 103.8: 94.4} 100.2: 101.5
11 99.2 98.7| 99.8| 99.2| 96.6| 102.8: 96.3: 99.1: 103.6: 102.9: 105.6: 120.2: 101.4: 109.5: 103.3: 94.5: 101.2: 101.5
12 98.8[ 98.5[ 99.3| 99.1| 96.3| 102.0: 95.2: 97.7: 104.1: 104.1: 98.5: 119.8: 102.6: 109. 1: 103.3: 95.6: 101.0: 101.5
fE t E3 %
I E | & E5 I 7 R R = O B R B B P I S
s | + 7z " # | & oo ¥
& ) » % K
= | B | i
i | o= K | A o>
r % s ifit ” 4 |
K i fi *
o6 Bolm | A i e | ®
ol osm L ow | E o e e o s e el sl R 2w R R
21/12| 97.8: 98.3i 95.8| 107.2: 102.7: 112.2: 99.2i 114.7| 89.8 71.4. 94.1. 94.5: 106.3: 95.8; 100.8| 113.2: 109.6: 100.0: 110.8
22/1 97.3: 97.9: 95.2| 107.5; 102.6: 112.6: 102.3; 114.7| 87.7: 66.5: 94.1: 94.0: 104.7: 95.9: 100. 8| 108.7; 103.6: 100.0: 104. 0
2 96.0: 96.0; 95.9| 108.5i 102.7: 114.2: 108.0: 114.7| 88.4: 69.2: 94.1: 93.9: 104.6; 94.7: 100.8| 103.4; 95.0: 100.0; 94.4
3 96.0; 96.0; 95.9| 108.8i 102.7: 115.3: 108.0: 114.7| 86.6: 63.5i 94.7: 93.9: 104.6; 95.2i 100.8| 106.3} 99.1: 100.0; 99.0
4 96.0: 96.0: 96.0| 108.4i 100.7: 115.7: 111.6: 114.7| 87.9: 68.5: 92.8: 94.2: 102.9: 95.3i 100.8| 109.0i 101.7: 100.0: 101.9
5 95.9: 96.0: 95.8| 109.5; 100.9: 116.0: 120.9: 114.7| 88.4: 69.4: 96.0: 94.2: 103.4: 94.8: 100.8| 111.1: 105.9: 108.5; 105.5
6 95.7: 95.9: 95.1| 109.7; 101.2: 116.3: 120.9: 114.7| 89.3: 70.8: 96.2: 94.2: 103.5; 96.4: 100.8| 112.0; 105.8; 108. 5 105.5
7 95.9: 96.1: 95.2| 110.0i 101.7: 116.6: 120.9: 114.7| 89.0; 69.2{ 96.2: 95.3i 104.7; 96.0; 100.8| 108.5¢ 102. 1i 108.5; 101. 3
8 95.9: 96.1: 95.1| 110.5i 102.6: 117.1: 120.9: 114.7| 87.1: 65.8: 96.2: 95.3: 102.6: 94.5: 100.8| 107.2i 101.6: 108. 5 100. 8
9 95.8: 96.0: 95.1| 110.8; 103.3: 117.1: 120.9: 114.7| 87.2: 66.5: 94.3: 88.6: 104.4: 96.0: 100.8| 112.9: 110.1: 108.5; 110. 3
10 95.0; 95.0: 95.1| 110.8; 103.4: 117.1: 120.9: 114.7| 86.1: 65.5: 93.3: 89.4: 101.1: 95.8i 100.8| 113.6; 110.1: 108.5; 110. 3
11 95.1¢ 94.9: 95.7| 110.5i 102.9: 116.7; 120.9: 114.7| 86.8: 67.3: 93.7: 89.4: 101.7: 95.4: 100.8| 113.0:; 110.2: 108.5 110.4
12 95.1: 94.9: 95.7| 110.4: 102.4: 116.6: 122.4: 114.7| 85.8: 63.6: 99.6: 89.4: 101.4: 94.3: 100.8| 110.7: 106.8: 108.5: 106. 6
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21/12| 116.5; 122.1; 104.4; 121. 8 111.7; 108.1| 97.3} 92.3; 97.7; 102.0{ 99.1; 101.0; 100.9: 93.6| 102.1; 102. 5; 112.1; 100.3
22/1 | 110.4} 113.7: 103. 2} 121.8} 109.9: 109.0[ 97.3} 92.2} 98.1i 102.0[ 99.0! 100. 8! 100.8; 93.6| 102.1:102.5: 112. 1} 100. 3
2 107.7: 111. 5 99.5; 114.7: 109.6: 110.0{ 97.8: 93.7: 97.1; 102.0| 99.2: 99.7: 101.1: 93.6| 102. 1; 102. 5: 112. 1 100. 3
3 111.3; 115.0; 103.2; 114.7: 111.7; 108. 1| 97.1; 92.2; 97.0; 102.0| 99.4: 101.4: 101.2; 93.6| 102. 1; 102. 5; 112. 1} 100. 3
4 117.9; 124.6; 103. 4 110.8; 113.2; 108. 1| 98.5; 94.9; 98.0{ 102.3| 99.8; 99.9: 102.1; 93.6| 73.8} 66.2; 112.3; 86.3
5 119.4: 128. 1 100. 3; 110.8: 113.2; 106.4| 97.9: 93.6: 97.8; 102.3| 100.5; 99.9: 103.2; 93.6| 73.7; 66.0: 112.3; 86.3
6 120.2; 128.6: 102. 1i 113.2{ 113.9: 109. 7| 98.2: 94.7: 96.6; 102. 3| 100.4; 99.0: 103.2: 93.6| 73.7i 66.0: 112.3; 86.3
7 115.2; 123.5 97.1 113.2{ 111.6; 106.6| 97.8; 93.7: 96.4i 102.3| 99.6; 100.0: 101.7; 93.6| 73.7; 66.0; 112.3; 86.3
8 112.0; 118.8; 97.1i 111.9: 111.6: 108. 1| 97.4: 93.4: 95.0i 102.3| 99.4: 102.7: 101.0; 93.5| 73.7i 66.0: 112.3; 86.3
9 119.5; 128.6: 99.6; 110.9: 109.4: 110.0{ 97.8; 93.9: 96.1; 102.3| 99.3: 98.8: 101.5; 93.5| 73.7; 66.0; 112.3; 86.3
10 122.6; 132.7: 100. 7; 110.5; 109.4; 106.6| 98.1: 93.8: 97.8; 102.4| 98.8; 99.9: 100.5: 93.5| 73.7; 66.0: 112.3; 86.3
11 119.9: 130.0; 98.0; 110.2: 109.7; 109.0{ 97.8; 93.2; 97.5; 102.4| 99.0: 99.3: 101.0; 93.5| 73.7; 66.0; 112.3; 86.3
12 | 116.8i 125.2¢ 98.6: 110.7: 111.3; 108. 1| 97.4} 92.4! 96.8! 102.4| 99.5: 101.0; 101.4} 93.5| 73.7. 66.0} 112.3} 86.3
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21/12| 92.6; 43.5: 89.6: 105.0: 99.5| 96.6; 97.6; 92.6: 108.3: 109.2: 92.1| 104.8| 102.6| 93.4| 95.5
22/1| 92.50 41.5: 91.1; 105.2; 98.7| 96.7: 97.6; 92.2{ 110.0i 109.2: 92.1| 105.1| 103.0| 93.2| 95.5
2 92. 1 41.1: 90.0: 105.2: 98.5 96.7: 97.6; 92.3: 110.0: 109.2: 92.1| 106.5| 103.0| 92.7| 95.5
3 93.1i 40.4: 92.8{ 105.0: 99.3| 97.0: 97.6; 93.6: 109.7: 109.2: 92.1| 106. 8| 102.9| 93.8| 95.5
4 93.2¢ 39.8: 91.7; 105.1: 100. 1| 96.9; 97.6; 93.2: 110.0; 109.2: 92.1| 107.5| 82.6| 93.7| 95.5
5 92.9¢ 39.6; 90.6! 105.1: 100. 1| 96.9: 97.6; 93.1i 110.0; 109.2: 92.1| 109.9| 82.5| 93.4| 95.5
6 92.8; 39.8: 89.8:105.1: 100.3| 97.1: 97.6; 93.7: 110.0: 109.2: 92.1| 110. 1| 82.5| 93.2| 95.5
7 92.9; 38.8; 89.7 105.4: 100.6[ 97.0; 97.6; 93.3; 110.0; 109.2; 92.1| 109. 1| 82.4| 93.5| 95.5
8 93.8; 37.8: 90.5; 105.4: 102.2| 96.8: 97.6; 92.8: 110.0; 109.2: 92.1| 108.6| 82.4| 94.7| 95.5
9 92.8 37.0¢ 89.9: 105.4: 100.8| 97.1: 97.6; 93.1: 111.5: 109.2! 92.1| 109.6| 82.4| 93.3| 95.5
10 92.9; 37.1: 89.2: 105.4: 101.2| 104.5; 97.6; 94.3: 111.5: 151.3: 100. 2| 109.2| 82.4| 93.4| 95.5
11 92.4; 36.4; 88.8:105.3: 100.5| 104. 1 97.6; 92.9: 111.5; 151.3: 100. 2| 108.9| 82.4| 92.9| 95.5
12 91.8: 36.9: 89.6: 105.3: 99.0[ 104.1: 97.6: 92.6: 111.7: 151.3: 100. 2| 108.9| 82.4| 92.6| 95.5




